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[Total No. of Questions: 11 ]              [Total No. of  Printed Pages : ] 

Roll No………………….. 

BC--101 

B.Com 1
st
 year  

Examination – June 2019 

Financial Accounting  

Time: Three Hours 

 Maximum Marks : 
2

1
42  

 

Note: i) Attempt all questions.(Ques.no.1 is Compulsory)  

Section–A 
 

Q.1  Objective Type Question.            (1.5 x5) =7.5 

1. Choose the correct Answer 
lgh mRrj dk p;u dhft, 

(i) Double entry system keeps records of  

(a) Personal Account      (b)  Real Account      

(b)  Nominal Account     (d) All of these 
 f}&izfo"V iz.kkyh ys[kk j[krh gSA 

¼1½ O;fDxr [kkrk  ¼2½ okLrfod [kkrk  

¼3½ ukeek= [kkrk  ¼4½ mi;qDr lHkh 

(ii) Income and Expenditure account is  

(a) Personal Account     (b) Real Account      

(b)  Nominal Account   (d) None of these 
fons’kh ’kk[kk [kkrs esa LFkk;h leifr;kaas dks ifjofrZr fd;k tkrk 

gSA 

¼1½ izkjfEHkd nj ls   ¼2½ vkSlr nj ls  

  ¼3½ Ø; dh fof/k dh nj ls  ¼4½ buessss ls dksbZ ugh 
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(iii) Normally del creder commission is calculated on 

_____________ sales 

(a) Cash       (b) Credit      

(b)  Total       (d)  None of these 
vk; O;; [kkrk gS\ 

¼1½ O;fDr [kkrk   ¼2½ okLrfod [kkrk  

¼3½ ukeek= [kkrk  ¼4½ buessss ls dksbZ ugh 

(iv) Name of insolvent partner in case of Garner VS 

Marry was  

(a) Wilkins   (b) Garner   (c) Murry   (d) Joyas 
lkekU; :i ls ifj’kks/k deh’ku dh x.kuk-----------------------foØ; ij 

dh tkrh gSA 

¼1½ uxn   ¼2½ m/kkj  

¼3½ dqy    ¼4½ bues ls dksbZ ugh 

(v) In foreign branch fixed assets shall be converted at 

(a) Opening rate       (b) Average rate   

       (c) Rate of the date of purchase  (d) None of these 
 xkuZj cuke ejs fookn esa fnokfy;k lk>snkj dk uke Fkk\ 

¼1½ foyfdUl   ¼2½ xkuZj  

¼3½ ejs    ¼4½ t;l 

 

Section – B 
 

Short answer type question  (attempt all questions)      5 x 2 =10 
 

Q.2 What are the advantages of keeping ledger? 
       [kkrkcgh j[kus ds D;k ykHk gS\ 

OR 

       What is the need of adjustment entries? 
       lek;kstu ys[kksa dh vko’;drk D;ksa iM+rh gS\ 

 

Q.3 What are the objectives of accounting standards? 
   ys[kkadu izeki ds D;k m}s’; gS\ 

OR 

      Give the specimen of branch account. 
      ’kk[kk [kkrs dk izk:i nhft;sA 

 

Q.4  Explain the terms  

        (a) Royalty   (b) Short working  
         budk Li"Vhdj.k dhft, 

      ¼1½ vf/kdkj ’kqYd  ¼2½ y/kqdk;Z jkf’k 

OR 

       Calculate the amount which will be posted to income and  

       expenditure account for the year ending 31 march 2017. 
     31 ekpZ 2017 dks lekIr gksus okys o"kZ esa vk;&O;; [kkrk esa fy[kh tkus  

     okyh jk’kh dh x.kuk dhft,A 

Q.5 What is abnormal loss? How it is calculated? 
       vlkekU; gkfu D;k gS\ bldh x.kuk dSls dh tkrh gS\ 

OR 

       What is cum – interest and en – interest purchase and sales? 
     C;kt lkfgr ,oa O;kt jfgr Ø; foØ; D;k gS\ 

Q.6 P,Q,R are partners in the ratio 5:3:2, on dissolution of firm,  

       realisation of loss is Rs 16000, capital is Rs 30,000, Rs  

      12000 and Rs 1274 respectively. General reserve is Rs 4000.   

      Debit balance of profit and loss account is Rs 2000. R   

      become insolvent prepare profit and loss account. 
        P,Q,R  5%3%2 ds vuqikr esa lk{ksnkj gSA QeZ ds lekiu ij olwwyh dh gkfu    

    1600 : FkhA iwWth [kkrksa ds ’ks"k Øe’k 30000]12000 rFkk 1274 : FksA  

    lekU; lp; 4000 :- FkkA ykHk&gkfu [kkrs dk MsfCkV ’ks"k 2000 : FkkA R  

         fnokfy;k gks x;kA iwath [kkrs cukb,A 

 

OR 

      What are the objectives of amalgamation of firms? 
    QeksZ ds ,dhdj.k ds D;k mns’; gS\ 
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Section – C 
 

Long answer type question (attempt all questions)         5 x 5 =25 
 

Q.7 What is meant by double entry system of book keeping?    

        Describe its principal stages. 
     iqLrikyu dh f}&izfo"V iz.kkyh ls D;k vfHkizk; gS\ bldh eq[; voLFkkvksa  

     dk o.kZu dhft,A 

OR 

        Prepare trading account in the books of raksha stores from  

        the following particulars for the year ending at 31 March   

        2017. 
     fuEukafdr fooj.k ls 31 ekpZ 2017 dks lekIr gq, o"kZ ds fy, j{kk LVkslZ  

     dh iqLrdksa esa O;kikfjd [kkrk cukb;sA  

Particulars Amount Particulars Amount 

Opening Stock 20,000 Railway Freight 

(onward) 

1400 

Cash Purchase 30,000 Wages 400 

Credit Purchase  20,000 Cash sales 40,000 

Purchase Return 1,000 Credit sales 30,000 

Goods withdrawn 

by proprieter 

500 Goods destroyed 

by fire  

1500 

Goods given in 

Charity 

100 Sales Return 2000 

Goods given as 

Sample 

100 Closing Stock 3500 

Comission paid 100 Goods send on 

consignment 

(cost) 

1500 

Octroi Duty 75   

Expenses of taking 

delivery 

25   

 

 

 

Q8 Prepare branch accounts from the following particulars.    

Branch makes only cash sales 
   fuEukafdr fooj.k ls ’kk[kk [kkrk cukb,A ’kk[kk dsoy udn foØ; djrh gSA 

Particulars Amount 

Opening Stock 2450 

Opening Petty Cash 70 

Outstanding for previous years 250 

Goods send to branch 48,000 

Cash Sales  58,000 

Cash send for branch expense 3750 

Closing balance of petty cash 70 

 

  Closing stock has not being ascertained, manager gets   

  commission @ 10% on net profit charging before charging  

  such commission. Branch sales goods after adding 25% profit  

  on cost prize. 
  vafre jgfr;k Kkr ugh gSA esustj dks ¼deh’ku /kVkus ds iwoZ ds ykHk ij   

 10izfr’kr deh’ku fn;k tkrk gSaA ’kk[kk ykxr ij 25izfr’ku ykHk tksM_dj  

 fcØh djrh gSA 

OR 

   Discuss the basis on which appointment of joint expenses is  

   made in departmental accounts. 
   mu vk/kkjksa dk foospu dhft, ftu ij la;qDr O;;ksa dk foHkkfx; ys[ks esa  

  foHkktu fd;k tkr gSA 

Q.9 Explain the difference between income and expenditure and  

       receives and payment accounts. 
       izkfIr vkSj Hkqxrku [kkrk vkSj vk; O;; [kkrs esa vUrj crkb,A 

OR 

  On 01/04/20009 the Metal Collaries Ltd. Took a piece of land    

  on lease. A minimum rent of Rs 2000 in the first year, Rs    

  4000 in second year and thereafter Rs 6000 per annum is to     

be merging to a royalty of 40 paisa per ton with power to 
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recoup shortworking over the three years of lease only. The 

figure of annual output from the years 01/04/2009 to 

31/03/2013 1000, 10000, 18000 and 20000 tons respectively. 

Open the necessary accounts in the books of lessee.   
01-04-2009 esVy dkyjht fy- us Hkwfe dk ,d VqdMk iVVs ij fy’kA U;wure 

fdjk;s dh jkf’k izFke o"kZ esa 2000 f}rh; o"kZ esa 4000 :- vkSj mlds ckn okys 

o"kksZ esa izfro"kZ 6000 :- Hkqxrku ds fy, j[kh x;h vkSj vf/kdkj ’kqYd dh 

jkf’k 40 iSls izfrVu j[khs x;hA y/kqdk;Z dh jfk’k dks iVs~ ds dsoy izFke rhu 

pj.kksa esa gh vif[kr fd;k tk ldrk gSA 01-04-2009 ls 31-3-2013 rd okf"kZd 

fudkys gq, dks;ys dh ek=k fuEu izdkj Fkh 1000 Vu 18000 Vu vkSj 20000 

VuA bu lhnks ls iV~k ysus okys esVy dksyjht fy- dh iqLrdksa esa vko’;dA 

 

2. What do you mean by joint ventures? Discuss its advantages. 
     la;qDr miØe ls vki D;k le>rs gS\ blds ykHkks dh O;k[;k dhft,A 

OR 

    Subash & Co. send goods costing Rs 20,000 to Suraj & co. on  

    consignment a/c and incurred Rs 1800 on freight and   

    insurance sale commission 5% and del crede commission @  

    11/4 % is payable. Consignee sold goods to the extend of Rs  

   32,000 and expenses were Rs 2400. The unsold stock was  

   worth Rs 600 in the hands of consignee. Prepare consignment  

   account in the books of consignor. 
  lqHkk"k ,.M dEiuh us lwjt ,.M dEiuh dks izFke ij 20000 : dk eky Hkstk  

  rFkk bl ij 1800 :- fdjk;k ,oa chek ds fy, O;; fd;sA fcØh deh’ku 5    

  izfr’kr vkSj vfrfjDr deh’ku 11/4 %  gSA izs"kh us vf/kdre eky 2400 :-  

  fcØh O;; gq,A izs"kh ds ikl vfUre jgfr;k 600 : ykxr ewY; FkkA izsf"kd dh  

  iqLrdks dk [kkrk cukb,A 

. 

Q.11 What accounts are opened in the books of a firm at the time  

         of insolvency of a partner on dissolution of a firm? 
      ,d lk{ksnkj ds fnokfy’k gksus ij QeZ ds fo/kVu ij QeZ dh iqLrdks esa  

      dkSu ls [kkrs cuk;s tkrs gS\ Li"V dhft,A 

OR 

       Give relevant general entries in the books of a firm when it  

       is converted in to Joint Stock Company. 

Lkk{ksnkjh dks LdU/k ize.My esa ifjokfrZr djrs le; QeZ dh iqLrdks esa dh tkuks 

okyh vko’;d iwath izfof"V;ka nhft,A 
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